Risolvi le seguenti equivalenze.

4536 M = .cooeeeeeern cm
21,37 km = ..o dam
4048 MM = ..o, dm
0,2601L km = .....ccecvenneee m
46980 dm = .......cceeeee km
3,841km = ....ccceveie dam
3888 dm = .......cceeeeeen, hm
2606 CmM = ..o dam
212dm = ... mm
4247 MM = oo dam
0,338l dam = .......c.c.e...e. cm
38,76 M = ...ccvernen, hm
311,8CcmM = ., m
1389 mMm = ... m
0,3465hm = ....covvvvve dm
0,416 km = ....ccccoverennee. dam
1165 mm = ... dam
124.8cm = ..ccevvei dam
4338KM = oo m
339,2mMm = ....cceeveeiee dam
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4789dm = .....cceeeee km
42.75dam = ... km
3743 MM = ... dm
1016 mMm = ... m
4,11hm = .., dm
4539dm = ...ccoveiee hm
4,372Kkm = ..o m
0,2441dm = ..ooovvveee mm
493,6M = ...ccoveenenn, hm
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Soluzioni

4,536 m = 453,6 cm
21,37 km = 2137 dam
404,8 mm = 4,048 dm
0,2601 km = 260,1 m
46980 dm = 4,698 km
3,841 km = 384,1 dam
3888 dm = 3,888 hm
2606 cm = 2,606 dam
2,12dm = 212 mm
424, 7 mm = 0,04247 dam
0,3381 dam = 338,1 cm
38,76 m = 0,3876 hm
311,8cm = 3,118 m
1389 mm = 1,389 m
0,3465 hm = 346,5 dm
0,416 km = 41,6 dam
1165 mm = 0,1165 dam

124,8 cm = 0,1248 dam

4,338 km = 4338 m
339,2 mm = 0,03392 dam
43cm = 0,43 m
Pagina3



4789 dm = 0,4789 km
42,75 dam = 0,4275 km
374,3mm = 3,743 dm
1016 mm = 1,016 m
4,11 hm = 4110 dm
4539 dm = 4,539 hm
4,372 km = 4372 m
0,2441 dm = 24,41 mm

493,6 m = 4,936 hm
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